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SUBJECT CODE: 504 SUBJECT NAME: OOSE 

 

UNIT 1: Object Oriented Concepts, Modeling and UML 

1. Which of the following UML diagrams has a static view?                                                                        

a) Collaboration 

b) Use case 

c) State chart 

d) Activity 

Answer: b 

 

Explanation: A use case diagrams captures only the functionality of the system whereas a 

dynamic model/view captures the functions as well as the action. 

2. UML stands for? 

a) Unified Modeling Language 

b) Unified Marketing Language 

c) Unified Modeling syntax 

d) Unifie Modeling Language 

Answer: a 

 

3. What type of core-relationship is represented by the symbol in the figure below? 

 

a)Aggregation 

b)Dependency 
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c)Generalization 

 

d) Association 

Answer: a 

 

 

4. Which core element of UML is being shown in the figure? 

 

a) Node 

b) Interface 

c) Class 

d) Component 

Answer: d 

Explanation: The figure is self explanatory. A component is a modular, significant and 

replaceable part of the system that packages implementation and exposes a set of interfaces. 

 

5. What type of relationship is represented by Shape class and Square ? 
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a) Realization 

b) Generalization 

c) Aggregation 

d) Dependency 

 

Answer: b 

 

6. What does a simple name in UML Class and objects consists of ? 

a) Letters 

b) Digits 

c) Punctuation Characters 

d) All of the mentioned 

Answer: d 

Explanation: A simple name consists of letters, digits and punctuation characters. 

 

7. What Does a Composite name consists of in a UML Class and object diagram ? 

a) Delimiter 

b) Simple names 

c) Digits 

d) All of the mentioned 

Answer: d 

Explanation: Composite name consists of sequence of simple names and simple names already 

consists of digits. 

 

8. A Class consists of which of these abstractions? 
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a) Set of the objects 

b) Operations 

c) Attributes 

d) All of the mentioned 

e) b, c 

Answer: d 

Explanation: A class is a abstraction of objects, operations and attributes. 

 

9. A class is divided into which of these compartments ? 

a) Name Compartment 

b) Attribute Compartment 

c) Operation Compartment 

d) All of the mentioned 

Answer: d 

Explanation: Class is divided into 3 main compartments mentioned. 

 

10. An attribute is a data item held by which of the following ? 

a) Class 

b) Object 

c) All of the mentioned 

d) None of the mentioned 

Answer: c 

Explanation: Attribute is a data item held by class or object. 
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11. What should be mentioned as attributes for conceptual modelling ? 

a) Initial Values 

b) Names 

c) All of the mentioned 

d) None of the mentioned 

Answer: c 

Explanation: Initial values along with their names are used as attributes. 

 

12. An operation can be described as? 

a) Object behavior 

b) Class behavior 

c) Functions 

d) a,b 

e) None of the mentioned 

Answer: d 

Explanation: An operation is class and object behavior. 

 

13. Which of these are part of class operation specification format ? 

a) name 

b) parameter list 

c) return-type list 

d) All of the mentioned 

Answer: d 
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Explanation: It consists of all these 3 mentioned format. 

 

14. What among these is true ? 

a) Associations may also correspond to relation between instances of three or more 

classes 

b) Association lines may be unlabeled or they may show association name 

c) All of the mentioned 

d) None of the mentioned 

Answer : c 

Explanation : All the statements mentioned are true with respect to Notations. 

 

15. In Unified Modeling Language, diagrams which captures system static structure 

and provide foundation for other models is called 

a) deployment diagrams 

b) class diagrams 

c) component diagrams 

d) object diagrams 

Answer: b 

 

16. In Unified Modeling Language, diagrams that organize system elements into groups are 

classified as 

a) package diagrams 

b) organized diagram 

c) system diagrams 
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d) class diagrams 

Answer: a 

17. UML provides which of these levels of visibility that can be applied to attributes 

and operations? 

a) Public 

b) Package 

c) Protected and Private 

d) All of the mentioned 

e) None of the mentioned 

Answer: d 

Explanation: UML provides which of these levels of visibility that can be applied to attributes 

and operations Public, Package, Protected and Private. 

 

18. The Unified Modeling Language (UML) has become an effective standard for software 

modelling.How many different notations does it have ? 

a) Three 

b) Four 

c) Six 

d) Nine 

Answer: d 

Explanation: The different notations of UML includes the nine UML diagrams namely 

class, object, sequence, collaboration, activity, state-chart, component, deployment and use 

case diagrams. 

 

19. Which model in system modelling depicts the dynamic behaviour of the system ? 

a) Context Model 
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b) Behavioral Model 

c) Data Model 

d) Object Model 

Answer: b 

Explanation: Behavioral models are used to describe the dynamic behavior of an executing 

system. This can be modeled from the perspective of the data processed by the system or by the 

events that stimulate responses from a system. 

 

20. Which model in system modelling depicts the static nature of the system ? 

a) Behavioral Model 

b) Context Model 

c) Data Model 

d) Structural Model 

Answer: d 

Explanation: Structural models show the organization and architecture of a system. These 

are used to define the static structure of classes in a system and 

their associations. 
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UNIT 2: Basic and Advanced Structural Modeling 

 

1. What does a simple name in UML Class and objects consist of? 

a) Letters 

b) Digits 

c) Punctuation Characters 

d) All of the mentioned 

 

Answer: d 

Explanation: A simple name consists of letters, digits and punctuation characters. 

 

2.  What Does a Composite name consists of in a UML Class and object diagram? 

a) Delimiter 

b) Simple names 

c) Digits 

d) All of the mentioned 

 

Answer: d 

Explanation: Composite name consists of sequence of simple names and simple names 

already consists of digits. 

 

3.  A Class consists of which of these abstractions? 

a) Set of the objects 

b) Operations 

c) Attributes 

d) All of the mentioned 

 

Answer: d 
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Explanation: A class is an abstraction of objects, operations and attributes. 

 

4.  A class is divided into which of these compartments? 

a) Name Compartment 

b) Attribute Compartment 

c) Operation Compartment 

d) All of the mentioned 

 

Answer: d 

Explanation: Class is divided into 3 main compartments mentioned. 

 

5. An attribute is a data item held by which of the following? 

a) Class 

b) Object 

c) All of the mentioned 

d) None of the mentioned 

 

Answer: c 

Explanation: Attribute is a data item held by class or object. 

6. What should be mentioned as attributes for conceptual modelling? 

a) Initial Values 

b) Names 

c) All of the mentioned 

d) None of the mentioned 

 

Answer: c 

Explanation: Initial values along with their names are used as attributes. 

 

7. An operation can be described as? 

a) Object behavior 

http://www.dacc.edu.in/


DNYANSAGAR ARTS AND COMMERCE COLLEGE, BALEWADI,PUNE - 45 

PROF . SUPRIYA MANE 
www.dacc.edu.in 

 

 

b) Class behavior 

c) Functions 

d) Object & Class behavior 

 

Answer: d 

Explanation: An operation is class and object behavior. 

 

8. Which of these are part of the class operation specification format? 

a) name 

b) parameter list 

c) return-type list 

d) all of the mentioned 

 

Answer: d 

Explanation: It consists of all these 3 mentioned format. 

 

9. What among the following statement is true? 

a) Associations may also correspond to the relation between instances of three or more 

classes 

b) Association lines may be unlabeled or they may show association name 

c) All of the mentioned 

d) None of the mentioned 

 

Answer: c 

Explanation: All the statements mentioned are true with respect to Notations. 

 

 

10.  What is multiplicity for an association? 

a) The multiplicity at the target class end of an association is the number of instances that 

can be associated with a single instance of source class 
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b) The multiplicity at the target class end of an association is the number of instances that 

can be associated with a number instance of source class 

c) All of the mentioned 

d) None of the mentioned 

Answer: a 

Explanation: Multiplicity is number of instances associated with single instance to source 

class. 

 

 

11.  Which among these are the rules to be considered to form Class diagrams? 

a) Class symbols must have at least a name compartment 

b) Compartment can be in random order 

c) Attributes and operations can be listed at any suitable place 

d) None of the mentioned 

 

Answer: a 

Explanation: Compartments can be in order, Attributes and operations must be listed one per 

line. 

 

12.  Which of these are the heuristics? 

a) Name classes, attributes, and roles with noun phrases 

b) Name operations and associations with verb phrases 

c) Stick to binary associations 

d) All of the mentioned 

 

Answer: d 

Explanation: All the heuristic mentioned are true. 

 

13. An object symbol is divided into what parts? 

a) Top compartment 
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b) Bottom Compartment 

c) All of the mentioned 

d) None of the mentioned 

 

 

 

Answer: c 

Explanation: An object is divided into top and bottom compartments. 

 

 

 

 

14. Which of the following is a building block of UML? 

a) Things 

b) Relationships 

c) Diagrams 

d) All of the mentioned 

 

Answer: d 

Explanation: All are the building blocks of UML which are further sub-categorized. 

 

15. Classes and interfaces are a part of 

a) Structural things 

b) Behavioral things 

c) Grouping things 

d) Annotational things 

 

Answer: a 

Explanation: Structural things are mostly static parts of a model, representing elements that are 

either conceptual or physical. 
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16. What is a collection of operations that specify a service of a class or component? 

a) Use Case 

b) Actor 

c) Interface 

d) Relationship 

 

Answer: c 

Explanation: None. 

 

17. What is a physical element that exists at runtime in UML? 

a) A node 

b) An interface 

c) An activity 

d) None of the mentioned 

 

Answer: a 

Explanation: A node represents a computational resource. 

 

18. What can be requested from any object of the class to affect behavior? 

a) object 

b) attribute 

c) operation 

d) instance 

Answer: c 

Explanation: An operation is the implementation of a service that can be requested from any 

object of the class to affect behavior. 

 

19. Which things are dynamic parts of UML models? 

a) Structural things 

b) Behavioral things 
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c) Grouping things 

d) Annotational things 

 

 

Answer: b 

Explanation: These are the verbs of a model, representing behavior over time and space. 

 

20. Which diagram in UML emphasizes the time-ordering of messages? 

a) Activity 

b) Sequence 

c) Collaboration 

d) Class 

 

Answer: b 

Explanation: This diagram is a model describing how groups of objects collaborate in some 

behavior over time. 

 

21. Object diagram captures the behavior of a single use case. 

a) True 

b) False 

 

Answer: b 

Explanation: Sequence Diagram is responsible for this. 

 

22. If you are working on real-time process control applications or systems that involve 

concurrent processing, you would use a 

a) Activity diagram 

b) Sequence diagram 

c) Statechart diagram 

d) Object diagram 

Answer: c 
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Explanation: A statechart diagram shows a state machine, consisting of states, transitions, 

events, and activities. 

 

23. Which diagram shows the configuration of run-time processing elements? 

a) Deployment diagram 

b) Component diagram 

c) Node diagram 

 

 

 

 

d) ER-diagram 

 

Answer: a 

Explanation: A Deployment diagram shows the configuration of run-time processing elements 

and the software components, processes, and objects. 

 

24. Which things in UML are the explanatory parts of UML models? 

a) Structural things 

b) Behavioral things 

c) Grouping things 

d) Annotational things 

 

Answer: d 

Explanation: It include a note which is simply a symbol for rendering constraints and comments 

attached to an element or a collection of elements. 

 

25. Which of the following term is best defined by the statement:”a structural relationship that 

specifies that objects of one thing are connected to objects of another”? 

a) Association 

b) Aggregation 
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c) Realization 

d) Generalization 

 

Answer: a 

Explanation: None. 

 

26. What refers to the value associated with a specific attribute of an object and to any actions or 

side? 

a) Object 

b) State 

c) Interface 

 

 

d) None of the mentioned 

 

Answer: b 

Explanation: In a state chart diagram, effects occur when the attribute’s value changes. 

 

27. What Does a Composite name consists of in a UML Class and object diagram? 

a) Delimiter 

b) Simple names 

c) Digits 

d) All of the mentioned 

 

Answer: d 

Explanation: Composite name consists of sequence of simple names and simple names 

already consists of digits. 

 

28.  A Class consists of which of these abstractions? 

a) Set of the objects 
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b) Operations 

c) Attributes 

d) All of the mentioned 

 

Answer: d 

Explanation: A class is an abstraction of objects, operations and attributes. 

 

29.  A class is divided into which of these compartments? 

a) Name Compartment 

b) Attribute Compartment 

c) Operation Compartment 

d) All of the mentioned 

Answer: d 

Explanation: Class is divided into 3 main compartments mentioned. 

 

30. An attribute is a data item held by which of the following? 

a) Class 

b) Object 

c) All of the mentioned 

d) None of the mentioned 

 

Answer: c 

Explanation: Attribute is a data item held by class or object. 
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UNIT 3: Basic Behavioral and Architectural Modeling 

 

1. What is the Interaction diagram? 

a) Interaction diagrams are the UML notations for dynamic modeling of collaborations 

b) Interaction diagrams are a central focus  of engineering design 

c) All of the mentioned 

d) None of the mentioned 

Answer: c 

Explanation: Interaction Diagram are the UML notations for dynamic modeling of 

collaborations, a central focus of engineering design. 

 

2. What are the different interaction diagram notations does UML have? 

a) A sequence diagram 

b) A communication diagram 

c) An interaction overview diagram 

d) All of the mentioned 

Answer: d 

Explanation: UML has Four different interaction diagram notations – A sequence diagram, A 

communication diagram, An interaction overview diagram, A timing diagram. 

 

3. What is a sequence diagram? 

a) A diagram that shows interacting individuals along the top of the diagram and messages 

passed among them arranged in temporal order down the page 

b) A diagram that shows messages superimposed on a diagram depicting collaborating 

individuals and the links among them 

c) A diagram that shows the change of an individual’s state over time 

d) All of the mentioned 

Answer: a 
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Explanation: A sequence diagram shows interacting individuals along the top of the diagram and 

messages passed among them arranged in temporal order down the page. 

 

4. Which of the following is true about Sequence frames? 

a) A sequence diagram has a frame consisting of a rectangle with a pentagon in its upper left-

hand corner 

b) The pentagon is its name compartment; the interaction is represented inside the rectangle 

c) The string in the name compartment has the form sd interaction Identifier where interaction 

Identifier is either a simple name or an operation specification with the same format as in a class 

diagram 

d) All of the mentioned 

Answer: d 

Explanation: All of the mentioned statements are followed in sequence frames. 

 

5. What is a lifeline? 

a) It is a frame consisting of a rectangle with a pentagon in its upper left-hand corner 

b) It is a rectangle containing an identifier with a dashed line extending below the rectangle 

c) It is a name compartment; the interaction is represented inside the rectangle 

d) None of the mentioned 

Answer: b 

Explanation: Lifeline is a rectangle containing an identifier with a dashed line extending below 

the rectangle. 

 

6. What does a message mean? 

a) It Passes all communications from one object to another and are represented by message 

arrows in sequence diagrams 

b) The message goes from the sending object’s lifeline to the receiving object’s lifeline 

c) It is a rectangle containing an identifier with a dashed line extending below the rectangle 

d) All of the mentioned 

Answer: a 
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Explanation: All communications from one object to another are called messages and are 

represented by message arrows in sequence diagrams. 

 

7. What are the three different types of message arrows? 

a) Synchronous, asynchronous, asynchronous with instance creation 

b) Self, Multiplied, instance generator 

c) Synchronous, Asynchronous, synchronous with instance creation 

d) None of the mentioned 

Answer: c 

Explanation: Three different types of message arrows are- Synchronous, Asynchronous, 

Synchronous with instance creation. 

 

8. Which of these are true with respect to the message arrows? 

a) The synchronous message arrow is used when a sending individual continues execution after 

sending the message 

b) The asynchronous message arrow is used when a sending individual suspends execution after 

sending the message 

c) The dashed arrow is used either to show the return of control from a synchronous message or 

to create a new entity 

d) All of the mentioned 

Answer: c 

Explanation: The asynchronous message arrow is used when a sending individual continues 

execution after sending the message and The synchronous message arrow is used when a 

sending individual suspends execution after sending the message. 

 

9. When is the operation executing, suspended and active? 

a) An operation is executing when some process is actually running its code 

b) An operation is suspended when it sends a synchronous message and it is waiting for the 

message to return 

c) An operation is active when it is either executing or suspended 
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d) All of the mentioned 

Answer: d 

Explanation: All of the mentioned statements are true and respond to operations executing 

suspended and active states. 

 

10. What is the interaction fragments? 

a) A fragment which is a rectangular frame with a pentagonal operation compartment in the 

upper left-hand corner 

b) A fragment which has a marked part of an interaction specification 

c) The regions resulting from these divisions will not hold the interaction fragment operations 

d) All of the mentioned 

Answer: d 

Explanation: Interaction fragment is a fragment which is a rectangular frame with a pentagonal 

operation compartment in the upper left-hand corner and A fragment which has a marked part of 

an interaction specification. 

   

 

11. Which of the following is true for optional fragments? 

a) An optional fragment is a portion of an interaction that may be done 

b) The fragment operator name is opt 

c) Optional fragments have only a single operand, which must contain a guard 

d) All of the mentioned 

Answer: d 

Explanation: All of the mentioned statements are true with respect to optional fragments. 

 

12. What is break fragment? 

a) An fragment which has one or more guarded operands whose guards are mutually 

exclusive—that is, at most one of them can be true at any time 

b) A fragment which has a single operand that is performed instead of the remainder of the 

enclosing fragment or diagram if the operand guard is true 

c) A fragment which has a single operand that may or may not have a guard 
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d) None of the mentioned 

Answer: b 

Explanation: A break fragment has a single operand that is performed instead of the remainder 

of the enclosing fragment or diagram if the operand guard is true. 

 

13. What are the heuristics which the sequencing diagram follows? 

a) Put pairs of lifelines that interact heavily next to one another 

b) Position lifelines to make message arrows as short as possible 

c) Position lifelines to make message arrows go from left to right 

d) All of the mentioned 

Answer: d 

Explanation: Sequencing diagram follows all the mentioned heuristics. 

 

14. Which among the following are not the valid notations for package and component diagram? 

a) Notes 

b) Box 

c) Extension Mechanisms 

d) Packages 

Answer: b 

Explanation: Boxes are the notations for box and line diagram. 

 

15. Which of the following statement is false? 

a) A note is a dog-eared box connected to any model element by a dashed line 

b) The main way to extend UML is by constraints, properties, etc 

c) A dependency relation holds between two entities D and I where change in I does not affect D 

d) All of the mentioned 

Answer: c 

Explanation: A dependency relation holds between two entities D and I where change in I 

affects D. 
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16. Which of these depicts the true definition for the UML extensions? 

a) A constraint is a statement that must be true of the entities designated by one or more model 

elements 

b) A property is a characteristic of the entity designated by a model element 

c) A stereotype is a UML model element given more specific meaning 

d) All of the mentioned 

Answer: d 

Explanation: All the mentioned statements are true definitions. 

 

17. Which of the following is incorrect in reference to dependency? 

a) Module D uses module I when a correct version of I must be present for D to work correctly 

b) Module D depends for compilation on module I 

c) Class I imports elements from package D 

d) None of the mentioned 

Answer: c 

Explanation: Class D imports elements from package I. 

 

18. What is a collection of model elements called? 

a) Box 

b) Dependency 

c) UML packages 

d) Package members 

Answer: d 

Explanation: UML Package is a collection of model elements called package members. 

 

19. A package diagram consists of the following? 

a) Package symbols 

b) Groupings of Use cases, classes, components 

c) Interface 

d) Package symbols, Groupings of Use cases, classes & components 
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Answer: d 

Explanation: A package diagram consists of package symbols, groupings of use cases, classes, 

components, etc. 

 

20. What types of units does Component follow? 

a) Modular Unit 

b) Replaceable Unit 

c) Unit with well defined interface 

d) All of the mentioned 

Answer: d 

Explanation: A component consists of modular, replaceable unit with well defined interface. 

 

21. Components can be represented by which of the following? 

a) Component symbols 

b) Stereotypes 

c) Rectangular boxes 

d) Component symbols & Stereotypes 

Answer: d 

Explanation: Components can be expressed by Symbols and stereotypes. 

 

22. What does a component diagram consists of? 

a) Components, their Relationship to the environment 

b) Packages and dependency 

c) Internal structure 

d) Internal structure, Components & their Relationship to the environment 

Answer: d 

Explanation: Component diagram consists of components, relationship to the environment and 

their internal structure. 
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23. Which of these is true with respect to interfaces? 

a) Interfaces in component diagram defines relationship between components and environment 

b) Interfaces realized by a class or a component are required interfaces 

c) Interface on which a class or component depends are called provided interfaces 

d) All of the mentioned 

Answer: a 

Explanation: Interfaces realized by a class or a component are provided interfaces whereas 

Interfaces on which a class or component depends are called required interfaces. 

 

24. What is a delegation connector? 

a) A delegation connector ties a component interface to one or more internal classes or 

components 

b) Delegation connectors are solid arrows stereotyped <> 

c) A delegation connector may also extend from an internal class to an external interface 

d) All of the mentioned 

Answer: d 

Explanation: All of the mentioned options represents delegation connector and are true. 

 

25. Which of these are diagrammatic heuristics? 

a) Use notes, constraints, properties and stereotypes to add information to UML models 

b) Use Stereotypes to name dependencies 

c) Use packages to group elements in static models 

d) All of the mentioned 

Answer: d 

Explanation: All of the mentioned are the respective heuristics to be followed for the UML 

models diagram. 
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26. Which of the following statement is true? 

a) A logical architecture is the realization of product as code and data files residing and 

executing on computational resource 

b) A physical architecture is the configuration of product’s major constituents 

 

 

 

c) All of the mentioned 

d) None of the mentioned 

Answer: d 

Explanation: A physical architecture is the realization of product as code and data files residing 

and executing on computational resource whereas, A logical architecture is the configuration of 

product’s major constituents. 

 

 

27. Which among these are the common notations for deployment diagrams? 

a) Artifacts and nodes 

b) Stereotypes 

c) Components 

d) All of the mentioned 

Answer: a 

Explanation: Artifacts and nodes are the common factors used for the deployment diagram. 

 

28. Which of the following statement is true? 

a) A UML artifact is any physical representation of data used or produced during software 

development or software product operation 

b) A node is a computational resource 

c) All of the mentioned 

d) None of the mentioned 

Answer: c 

Explanation: All of the mentioned options are true definitions of the notations. 
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29. Which of these are types of nodes used in the deployment diagram? 

a) Device 

b) Execution Environment 

c) Artifact 

d) Device & Execution Environment 

 

 

 

 

Answer: d 

Explanation: The two types of nodes are the Device and execution environment. 

 

30. Which are the ways to represent nodes in a deployment diagram? 

a) Nodes instances are underlined identifiers of the form name:type 

b) The name may be left off, indicating an unnamed instance of the type 

c) The type may be left off, indicating a named instance with an unspecified type 

d) All of the mentioned 

Answer: d 

Explanation: All of the above are the ways in which a node can be represented in a deployment 

diagram. 

 

31. What does a deployment diagram consists of? 

a) Computational resource 

b) Communication path between resource 

c) Artifacts that execute resource 

d) All of the mentioned 

Answer: d 

Explanation: A deployment diagram consists of all the mentioned options. 
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32. Which of the following is incorrect in the deployment diagram? 

a) Communication connections between nodes are shown by communication paths 

b) Communication paths are represented by dotted lines 

c) Artifacts are deployed inside nodes where they reside and execute 

d) None of the mentioned 

Answer: b 

Explanation: Communication paths are represented by solid lines and not dotted lines. 

 

33. Which of these is correct? 

a) Artifacts instances and types have same names 

b) Artifact names and instances are underlines 

c) All of the mentioned 

d) None of the mentioned 

Answer: a 

Explanation: Artifacts names are underlined but instances are not. 

 

34. What is true about the artifacts? 

a) An Artifact is a physical entity 

b) An artifact has spatio temporal location 

c) All of the mentioned 

d) None of the mentioned 

Answer: c 

Explanation: All of the mentioned options 

 

35. What are the ways in which artifacts can be deployed? 

a) Artifact symbol can be placed within node symbol 

b) The artifact symbol can appear outside the node but be attached to it by dependency arrow 

from the artifact 

c) Artifact name can be listed inside the node symbol 

d) All of the mentioned 
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Answer: d 

Explanation: All of the above are the ways in which an artifact can be deployed. 

 

36. How many diagrams are here in Unified Modelling Language? 

a) six 

b) seven 

c) eight 

d) nine 

Answer: d 

 

 

 

 

Explanation: The nine UML diagrams include use-case, sequence, collaboration, activity, state-

chart, deployment, class, object and component. 

 

37. What does a deployment diagram consists of? 

a) Computational resource 

b) Communication path between resource 

c) Artifacts that execute resource 

d) All of the mentioned 

Answer: d 

Explanation: A deployment diagram consists of all the mentioned options. 

 

38. Which among these are the common notations for deployment diagrams? 

a) Artifacts and nodes 

b) Stereotypes 

c) Components 

d) All of the mentioned 

Answer: a 

Explanation: Artifacts and nodes are the common factors used for the deployment diagram. 

 

http://www.dacc.edu.in/


DNYANSAGAR ARTS AND COMMERCE COLLEGE, BALEWADI,PUNE - 45 

PROF . SUPRIYA MANE 
www.dacc.edu.in 

 

 

39.  Which UML diagram is shown below? 

 

 

 

a) Use Case 

b) Collaboration Diagram 

c) Class Diagram 

d) Object Diagram 

Answer: a 

Explanation: None. 
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40. Which UML diagram is shown below? 

 

a) Use Case 

b) State Chart 

c) Activity 

d) Object Diagram 

Answer: b 

Explanation: None. 

 

41. Which UML diagram is shown below? 
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a) Use Case 

b) Collaboration Diagram 

c) Sequence Diagram 

d) Object Diagram 

Answer: c 

Explanation: None. 

 

 

42. Which UML diagram’s symbols are shown below? 

 

a) Deployment diagram 

b) Collaboration Diagram 

c) Component Diagram 

d) Object Diagram 

 

 

Answer: a 

Explanation: None. 
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43. Which UML diagram is shown below? 

 

 

 

a) Deployment diagram 

b) Collaboration Diagram 

c) Object Diagram 

d) Class Diagram 

Answer: d 

Explanation: None. 

 

http://www.dacc.edu.in/
https://www.sanfoundry.com/wp-content/uploads/2013/07/software-engineering-multiple-choice-questions-answers-q6.png


DNYANSAGAR ARTS AND COMMERCE COLLEGE, BALEWADI,PUNE - 45 

PROF . SUPRIYA MANE 
www.dacc.edu.in 

 

 

44. Which UML diagram is shown below? 

 

a) Activity 

b) State chart 

c) Sequence 

c) Collaboration 

Answer: a 

Explanation: None. 

 

45. Which UML diagram is shown below? 

 

a) Component 

b) Deployment 

c) Use Case 

d) DFD 
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Answer: a 

Explanation: None. 

 

46. Which of the following statement is true? 

a) A transition is a change from one state to another 

b) Transitions may be spontaneous, but usually some event triggers them 

c) An event is a noteworthy occurrence at a particular time; events have no duration 

d) All of the mentioned 

Answer: d 

Explanation: All the mentioned statements are true. 

 

 

47. Every finite automaton specification must contain which of the following? 

a) Descriptions of the automaton’s states in a way that allows them to be distinguished, such as 

by naming each one; 

b) Descriptions of transitions indicating each transition source state, its target state, and the 

events that trigger it; 

c) Designation of an initial state, the starting place for state transitions 

d) All of the mentioned 

Answer: d 

Explanation: Every finite automaton specification contains – Descriptions of the automaton’s 

states in a way that allows them to be distinguished, such as by naming each one;Descriptions of 

transitions indicating each transition source state, its target state, and the events that trigger it; 

and Designation of an initial state, the starting place for state transitions. 

  

48. What does deterministic and non deterministic automation? 

a) A non-deterministic finite automaton is a finite automaton that has no spontaneous transitions 

and has a single transition that it must make in response to every event in each of its states 

b) A deterministic finite automaton is one with multiple transitions 

c) All of the mentioned 
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d) None of the mentioned 

Answer: d 

 

 

 

 

Explanation: A deterministic finite automation is a finite automaton that has no spontaneous 

transitions and has a single transition that it must make in response to every event in each of its 

states and A non-deterministic finite automaton is one with multiple transitions. 

 

49. Which of the following determines the state diagram? 

a) The UML notation for specifying finite automata is the state diagram 

b) In state diagrams, states are represented by rounded rectangles 

c) All of the mentioned 

d) None of the mentioned 

Answer: c 

Explanation: All of the mentioned are true for the state diagram. 

 

50. Which of the following represents the State Diagram? 

a) The finite automaton initial state is designated by a special initial pseudo-state depicted as a 

large black dot at the tail of an arrow pointing at the initial state 

b) A finite automaton may execute forever or it may halt in a final state 

c) Transitions are represented by solid arrows labeled with one or more transition strings that 

describe the circumstances under which the transition is triggered and the actions that may ensue 

d) All of the mentioned 

Answer: d 

Explanation: All of the mentioned are true for state diagram. 

 

51. Which of the statements state the name compartment? 

a) The first compartment is the name compartment 

b) It contains the state name; State names are optional and may be path names 
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c) The name compartment can never be omitted 

d) The first compartment is the name compartment, It contains the state name; State names are 

optional and may be path names 

Answer: d 

 

 

 

 

Explanation: State name compartment is the first compartment that contains state name, name 

compartment may be omitted. 

 

52. Which of the following is true? 

a) A state symbol without a nested state compartment represents a complex state 

b) One with a nested state compartment represents a simple state 

c) All of the mentioned 

d) None of the mentioned 

Answer: d 

Explanation: A state symbol without a nested state compartment represents a simple state and 

One with a nested state compartment represents a complex state. 

 

53. Which of the following are composite states? 

a) A sequential composite state 

b) A concurrent composite state 

c) All of the mentioned 

d) None of the mentioned 

Answer: c 

Explanation: There are two kinds of composite states -A sequential composite state and A 

concurrent composite state. 

 

54. What is sequential and concurrent composite state means? 

a) A concurrent composite state contains a single state diagram composed of sub-states or inner 
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states and the transitions between them 

b) A sequential composite state contains two or more sequential state diagrams in regions 

separated by dashed lines called concurrent region boundary lines 

c) All of the mentioned 

d) None of the mentioned 

 

 

 

 

Answer: d 

Explanation: A sequential composite state contains a single state diagram composed of sub-

states or inner states and the transitions between them and A concurrent composite state contains 

two or more sequential state diagrams in regions separated by dashed lines called concurrent 

region boundary lines. 

 

55. Sequential composite states simplify state models in two ways? 

a) They organize states into hierarchies 

b) They consolidate many transitions 

c) All of the mentioned 

d) None of the mentioned 

Answer: c 

Explanation: All of the mentioned are the two ways to simplify sequential composite states. 

 

56. What should be mentioned as attributes for conceptual modelling ? 

a) Initial Values 

b) Names 

c) All of the mentioned 

d) None of the mentioned 

Answer: c 
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Explanation: Initial values along with their names are used as attributes. 

 

57. An operation can be described as? 

a) Object behavior 

b) Class behavior 

c) Functions 

d) a,b 

e) None of the mentioned 

Answer: d 

Explanation: An operation is class and object behavior. 

 

58. Which of these are part of class operation specification format ? 

a) name 

b) parameter list 

c) return-type list 

d) All of the mentioned 

Answer: d 

Explanation: It consists of all these 3 mentioned format. 

 

59. What among these is true ? 

a) Associations may also correspond to relation between instances of three or more 

classes 

b) Association lines may be unlabeled or they may show association name 

c) All of the mentioned 
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d) None of the mentioned 

Answer : c 

Explanation : All the statements mentioned are true with respect to Notations. 

 

60. In Unified Modeling Language, diagrams which captures system static structure 

and provide foundation for other models is called 

a) deployment diagrams 

b) class diagrams 

c) component diagrams 

d) object diagrams 

Answer: b 

61. In Unified Modeling Language, diagrams that organize system elements into groups are 

classified as 

a) package diagrams 

b) organized diagram 

c) system diagrams 

d) class diagrams 

Answer: a 

62. UML provides which of these levels of visibility that can be applied to attributes 

and operations? 

a) Public 

b) Package 

c) Protected and Private 
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d) All of the mentioned 

e) None of the mentioned 

Answer: d 

Explanation: UML provides which of these levels of visibility that can be applied to attributes 

and operations Public, Package, Protected and Private. 

 

63. The Unified Modeling Language (UML) has become an effective standard for software 

modelling.How many different notations does it have ? 

a) Three 

b) Four 

c) Six 

d) Nine 

Answer: 

d 

Explanation: The different notations of UML includes the nine UML diagrams namely 

class, object, sequence, collaboration, activity, state-chart, component, deployment and use 

case diagrams. 

 

64. Which model in system modelling depicts the dynamic behaviour of the system ? 

a) Context Model 

b) Behavioral Model 

c) Data Model 

d) Object Model 

Answer: b 

Explanation: Behavioral models are used to describe the dynamic behavior of an executing 

system. This can be modeled from the perspective of the data processed by the system or by the 

events that stimulate responses from a system. 
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65. Which model in system modelling depicts the static nature of the system ? 

a) Behavioral Model 

b) Context Model 

c) Data Model 

d) Structural Model 

Answer: d 

Explanation: Structural models show the organization and architecture of a system. These 

are used to define the static structure of classes in a system and 

their associations. 

 

66. What does a deployment diagram consists of? 

a) Computational resource 

b) Communication path between resource 

c) Artifacts that execute resource 

d) All of the mentioned 

Answer: d 

Explanation: A deployment diagram consists of all the mentioned options. 

 

67. Which of the following is incorrect in the deployment diagram? 

a) Communication connections between nodes are shown by communication paths 

b) Communication paths are represented by dotted lines 

c) Artifacts are deployed inside nodes where they reside and execute 

d) None of the mentioned 

Answer: b 

Explanation: Communication paths are represented by solid lines and not dotted lines. 

 

68. Which of these is correct? 

a) Artifacts instances and types have same names 

b) Artifact names and instances are underlines 

c) All of the mentioned 
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d) None of the mentioned 

Answer: a 

Explanation: Artifacts names are underlined but instances are not. 

 

69. What is true about the artifacts? 

a) An Artifact is a physical entity 

b) An artifact has spatio temporal location 

c) All of the mentioned 

d) None of the mentioned 

Answer: c 

Explanation: All of the mentioned options 

 

70. What are the ways in which artifacts can be deployed? 

a) Artifact symbol can be placed within node symbol 

b) The artifact symbol can appear outside the node but be attached to it by dependency arrow 

from the artifact 

c) Artifact name can be listed inside the node symbol 

d) All of the mentioned 

Answer: d 

Explanation: All of the above are the ways in which an artifact can be deployed. 

 

71. How many diagrams are here in Unified Modelling Language? 

a) six 

b) seven 

c) eight 

d) nine 

Answer: d 

Explanation: The nine UML diagrams include use-case, sequence, collaboration, activity, state-

chart, deployment, class, object and component. 
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72. What does a deployment diagram consists of? 

a) Computational resource 

b) Communication path between resource 

c) Artifacts that execute resource 

d) All of the mentioned 

Answer: d 

Explanation: A deployment diagram consists of all the mentioned options. 

 

73. Which among these are the common notations for deployment diagrams? 

a) Artifacts and nodes 

b) Stereotypes 

c) Components 

d) All of the mentioned 

Answer: a 

Explanation: Artifacts and nodes are the common factors used for the deployment diagram. 

 

74.  Which UML diagram is shown below? 

 

a) Use Case 

http://www.dacc.edu.in/
https://www.sanfoundry.com/wp-content/uploads/2013/07/software-engineering-multiple-choice-questions-answers-q2.png


DNYANSAGAR ARTS AND COMMERCE COLLEGE, BALEWADI,PUNE - 45 

PROF . SUPRIYA MANE 
www.dacc.edu.in 

 

 

b) Collaboration Diagram 

c) Class Diagram 

d) Object Diagram 

Answer: a 

Explanation: None. 

 

75. Which UML diagram is shown below? 

 

a) Use Case 

b) State Chart 

c) Activity 

d) Object Diagram 

Answer: b 

Explanation: None. 
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76. Which UML diagram is shown below? 

 

a) Use Case 

b) Collaboration Diagram 

c) Sequence Diagram 

d) Object Diagram 

Answer: c 

Explanation: None. 

 

 

77. Which UML diagram’s symbols are shown below? 

 

a) Deployment diagram 

b) Collaboration Diagram 

c) Component Diagram 

d) Object Diagram 
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Answer: a 

Explanation: None. 

 

a) Which UML diagram is shown below? 

 

a)Deployment diagram 

b) Collaboration Diagram 

c) Object Diagram 

d) Class Diagram 

Answer: d 

Explanation: None. 
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78. Which UML diagram is shown below? 

 

a) Activity 

b) State chart 

c) Sequence 

c) Collaboration 

Answer: a 

Explanation: None. 

 

79. Which UML diagram is shown below? 

 

a) Component 
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b) Deployment 

c) Use Case 

d) DFD 

Answer: a 

Explanation: None. 

 

80. In Unified Modeling Language, diagrams that organize system elements into groups are 

classified as 

e) package diagrams 

f) organized diagram 

g) system diagrams 

h) class diagrams 

Answer: a 
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UNIT 4: Object Oriented Analysis 

 

1.  The method of design encompassing the process of object oriented decomposition and a 

notation for depicting both logical and physical and as well as static and dynamic models of the 

system under design is known as: 

a) Object- Oriented Programming 

b) Object- Oriented Design 

c) Object- Oriented Analysis 

d) None of the mentioned 

Answer: b 

Explanation: The definition has two important parts. The former part uses the class and object 

abstractions to logically structure systems, and the latter uses algorithmic abstractions. The term 

object oriented design (OOD) is used to refer any method that leads to object oriented 

decomposition. 

 

2.  What is the programming style of the object oriented conceptual model? 

a) Invariant relationships 

b) Algorithms 

c) Classes and objects 

d) Goals, often expressed in a predicate calculus. 

Answer: c 

Explanation: Object oriented programming follows a conceptual framework called object model 

and is implemented by writing classes and objects to make its style clear unlike procedure- 

oriented language. 

 

3.  The essential characteristics of an object that distinguish it from all other kinds of objects and 

thus provide crisply defined conceptual boundaries, relative to the perspective of the viewer is 

called: 
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a) Encapsulation 

b) Modularity 

c) Hierarchy 

d) Abstraction 

Answer: d 

Explanation: Abstraction focuses only on the outside view of an object and separates object’s 

essential behavior from its implementation. It explains what an object does but doesn’t explain 

how it does. 

 

 

4. Abstraction is classified into _______ types 

a) 4 

b) 3 

c) 2 

d) 1 

Answer: a 

Explanation: Entity abstraction, Action abstraction, Virtual machine abstraction, Coincidental 

abstraction. 

 

5. The process of compartmentalizing the elements of an abstraction that constitute its structure 

and behavior is called as 

a) Hierarchy 

b) Encapsulation 

c) Modularity 

d) Entity Abstraction 

Answer: b 

Explanation: Encapsulation focuses upon the implementation that gives rise to this behavior and 

is mostly often achieved through information hiding i.e., abstraction. 

 

6. Single inheritance, Multiple inheritance, and Aggregation comes under _______ 

a) Modularity 
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b) Typing 

c) Hierarchy 

d) None of the mentioned 

Answer: c 

Explanation: All the three types are the examples of Hierarchy, as it denotes ranking or ordering 

of abstractions. 

 

7. In which of the following mechanisms, types of all variables and expressions are fixed at 

compilation time. 

a) Strong Typing 

b) Weak Typing 

c) Static Binding/ early binding 

d) Dynamic Binding/ late binding 

Answer: c 

Explanation: The memory address of a variable can be statically bound to the variable at 

compile time or dynamically at runtime. Likewise, variables in some languages have dynamic 

types that change during program execution, while other variables have static types that remain 

fixed over the execution of the program. Only the binding of the value determines whether the 

object is a variable or something else (such as constant). 

 

8.  In which of the following mechanisms, types of all variables and expressions are not known 

until runtime 

a) Strong Typing 

b) Weak Typing 

c) Static Binding/ early binding 

d) Dynamic Binding/ late binding 

Answer: d 

Explanation: The memory address of a variable can be statically bound to the variable at 

compile time or dynamically at runtime. Likewise, variables in some languages have dynamic 

types that change during program execution, while other variables have static types that remain 
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fixed over the execution of the program. Only the binding of the value determines whether the 

object is a variable or something else (such as constant). 

 

9. Which of the following statements about Persistence is correct? 

a) It is the enforcement of the class of an object, such that objects of different types may not be 

interchanged, or at the most they may be interchanged only in very restricted ways. 

b) It is the property of an object through which its existence transcends time and/or space. 

c) It is the property that distinguishes an active object from one that is not active. 

d) All of the mentioned 

Answer: b 

Explanation: Persistence deals with lifetime of data. Persistence saves the state and class of an 

object across time or space. 

 

10.  What is that concept in type theory in which a single name may denote objects of many 

different classes that are related by some common super class referred to ______ 

a) Monomorphism 

b) Type Checking 

c) Polymorphism 

d) Generalization 

Answer: c 

Explanation: Polymorphism is a feature of object oriented programming that usually takes the 

ability of creating an object, or variable, or a function in more than one form. Polymorphism 

exists when the features of inheritance and dynamic binding interact. 

 

11. Choose the incorrect statement in terms of Objects. 

a) Objects are abstractions of real-world 

b) Objects can’t manage themselves 

c) Objects encapsulate state and representation information 

d) All of the mentioned 

Answer: b 

Explanation: Objects are independent. 
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12. What encapsulates both data and data manipulation functions ? 

a) Object 

b) Class 

c) Super Class 

d) Sub Class 

Answer: a 

Explanation: None. 

 

13.  Which of the following is a mechanism that allows several objects in an class hierarchy to 

have different methods with the same name? 

a) Aggregation 

b) Polymorphism 

c) Inheritance 

d) All of the mentioned 

Answer: b 

Explanation: In polymorphism instances of each subclass will be free to respond to messages by 

calling their own version of the method. 

 

14.  Inherited object classes are self-contained. 

a) True 

b) False 

Answer: b 

Explanation: Inherited object classes are not self-contained. They cannot be understood without 

reference to their super-classes. 

 

15.  Which of the following points related to Object-oriented development (OOD) is true? 

a) OOA is concerned with developing an object model of the application domain 

b) OOD is concerned with developing an object-oriented system model to implement 

requirements 
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c) All of the mentioned 

d) None of the mentioned 

Answer: c 

Explanation: The answer is in support with the OOD. 

 

16. How is generalization implemented in Object Oriented programming languages? 

a) Inheritance 

b) Polymorphism 

c) Encapsulation 

d) Abstract Classes 

Answer: a 

Explanation: None. 

 

17.  Which of the following is a disadvantage of OOD ? 

a) Easier maintenance 

b) Objects may be  

understood as stand-alone entities 

c) Objects are potentially reusable components 

d) None of the mentioned 

Answer: d 

Explanation: All the options define the characteristics of OOD. 

 

18. Which of the following describes”Is-a-Relationship” ? 

a) Aggregation 

b) Inheritance 

c) Dependency 

d) All of the mentioned 

Answer: b 

Explanation: None. 
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19.  Object that collects data on request rather than autonomously is known as 

a) Active Object 

b) Passive Object 

c) Multiple instance 

d) None of the mentioned 

Answer: b 

Explanation: A passive object holds data, but does not initiate control. 

 

20. Objects are executed 

a) sequentially 

b) in Parallel 

c) sequentially & Parallel 

d) none of the mentioned 

Answer: c 

Explanation: Objects may be distributed and may execute  

sequentially or in parallel. 
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UNIT 5: Object Oriented Design 

 

 

 

1. What does a simple name in UML Class and objects consists of ? 

a) Letters 

b) Digits 

c) Punctuation Characters 

d) All of the mentioned 

Answer: d 

Explanation: A simple name consists of letters, digits and punctuation characters. 

 

2. What Does a Composite name consists of in a UML Class and object diagram ? 

a) Delimiter 

b) Simple names 

c) Digits 

d) All of the mentioned 

Answer: d 

Explanation: Composite name consists of sequence of simple names and simple names already 

consists of digits. 

 

3. A Class consists of which of these abstractions? 

a) Set of the objects 

b) Operations 

c) Attributes 

d) All of the mentioned 

e) b, c 

Answer: d 

Explanation: A class is a abstraction of objects, operations and attributes. 
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4. A class is divided into which of these compartments ? 

a) Name Compartment 

b) Attribute Compartment 

c) Operation Compartment 

d) All of the mentioned 

Answer: d 

Explanation: Class is divided into 3 main compartments mentioned) 

 

5. An attribute is a data item held by which of the following ? 

a) Class 

b) Object 

c) All of the mentioned 

d) None of the mentioned 

Answer: c 

Explanation: Attribute is a data item held by class or object. 

 

6. What should be mentioned as attributes for conceptual modelling ? 

a) Initial Values 

b) Names 

c) All of the mentioned 

d) None of the mentioned 

Answer: c 

Explanation: Initial values along with thier names are used as attributes. 

 

7. An operation can be described as? 

a) Object behavior 

b) Class behavior 

c) Functions 

d) a,b 

e. None of the mentioned 
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Answer: d 

Explanation: An operation is class and object behavior. 

 

8. Which of these are part of class operation specification format ? 

a) name 

b) parameter list 

c) return-type list 

d) All of the mentioned 

Answer: d 

Explanation: It consists of all these 3 mentioned format. 

 

9. What among these is true ? 

a) Associations may also correspond to relation between instances of three or more classes 

b) Association lines may be unlabeled or they may show association name 

c) All of the mentioned 

d) None of the mentioned 

Answer : c 

Explanation : All the statements mentioned are true with respect to Notations. 

 

10. What is multiplicity for an association? 

a) The multiplicity at the target class end of an association is the number of instances that can be 

associated with a single instance of source class 

b) The multiplicity at the target class end of an association is the number of instances that can be 

associated with a number instance of source class 

c) All of the mentioned 

d) None of the mentioned 

Answer : a 

Explanation : Multiplicity is number of instances associated with single instance to source class. 

 

11. Which among these are the rules to be considered to form Class diagrams? 

a) Class symbols must have at least a name compartment 
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b) Compartment can be in random order 

c) Attributes and operations can be listed at any suitable place 

d) None of the mentioned 

Answer : a 

Explanation : Compartments can be in order, Attributes and operations must be listed one per 

line. 

 

12. Which of these are the heuristics ? 

a) Name classes, attributes, and roles with noun phrases 

b) Name operations and associations with verb phrases 

c) Stick to binary associations 

d) All of the mentioned 

Answer : d 

Explanation : All the heuristic mentioned are true. 

 

13. An object symbol is divided into what parts ? 

a) Top compartment 

b) Bottom Compartment 

c) All of the mentioned 

d) None of the mentioned 

Answer: c 

 

14. What is UML? 

a) UML is Unified Modeling Language. 

b) Graphical language for visualizing artifacts of the system. 

c) Allow to create a blue print of all the aspects of the system. 

Answer: a 

 

15. Diagrams in unified modified language which are used to test class diagrams for accuracy 

purpose are called 

a) deployment diagrams 
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b) component diagrams 

c) object diagrams 

d) package diagrams 

Answer: a 

 

16. In Unified Modeling Language, diagrams which captures system static structure and provide 

foundation for other models is called 

a) deployment diagrams 

b) class diagrams 

c) component diagrams 

d) object diagrams 

 Answer: b 

 

17. In Unified Modeling Language, diagrams that organize system elements into groups are 

classified as 

a) package diagrams 

b) organized diagram 

c) system diagrams 

d) class diagrams 

Answer: a 

 

18. In component diagrams, building block which is represented with two rectangles laid on left 

side is classified as 

a) type of components 

b) interfaces 

c) dependency relationships 

Answer: c 

Explanation : An object is divided into top and bottom compartments. 

 

19. Which among the following are not the valid notations for package and component diagram? 

a) Notes 
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b) Box 

c) Extension Mechanisms 

d) Packages 

 

Answer: b 

Explanation: Boxes are the notations for box and line diagram. 

 

20. Which of the following is false? 

a) A note is a dog-eared box connected to any model element by a dashed line 

b) The main way to extend UML is by constraints, properties, etc 

c) A dependency relation holds between two entities D and I where change in I does not affect D 

d) All of the mentioned 

Answer: c 

Explanation: A dependency relation holds between two entities D and I where change in I 

affects D. 

 

21. Which of these depicts the true definition for the UML extensions? 

a) A constraint is the statement that must be true of the entities designated by one or more model 

elements 

b) A property is a characteristic of the entity designated by a model element 

c) A stereotype is a UML model element given more specific meaning 

d) All of the mentioned 

Answer: d 

Explanation: All the mentioned statements are true definitions. 

 

22. Which of the following in incorrect in reference to dependency? 

a) Module D uses module I when a correct version of I must be present for D to work correctly 

b) Module D depends for compilation on module I 

c) Class I imports elements from package D 

d) None of the mentioned 

Answer: c 
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Explanation: Class D imports elements from package I. 

 

23. What is collection of model elements called? 

a) Box 

b) Dependency 

c) UML packages 

d) Package members 

Answer: d 

Explanation: UML Package is collection of model elements called package members. 

 

24. A package diagram consists of the following? 

a) Package symbols 

b) Groupings of Usecases, classes, components 

c) Interface 

d) All of the mentioned 

e) a, b 

Answer: e 

Explanation: A package diagram consists of package symbols, groupings of usecases, classes, 

components, etc. 

 

25. What types of units does Component follow? 

a) Modular Unit 

b) Replaceable Unit 

c) Unit with well defined interface 

d) All of the mentioned 

Answer: d 

Explanation: A component consists of modular, replaceable unit with well defined interface. 

 

26. Components can be represented by which of the following? 

a) Component symbols 

b) Stereotypes 
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c) Rectangular boxes 

d) a, b 

e) a, c 

Answer: d 

Explanation: Components can be expressed by Symbols and stereotypes. 

 

27. What does a component diagram consists of? 

a) Components, their Relationship to the environment 

b) Packages and dependency 

c) Internal structure 

d) a, b 

e) a, c 

Answer: e 

Explanation: Component diagram consists of components, relationship to the environment and 

their internal structure. 

 

28. Which of these is true with respect to interfaces? 

a) Interfaces in component diagram defines relationship between components and environment 

b) Interfaces realized by a class or a component are required interfaces 

c) Interface on which a class or component depends are called provided interfaces 

d) All of the mentioned 

Answer: a 

Explanation: Interfaces realized by a class or a component are provided interfaces whereas 

Interfaces on which a class or component depends are called required interfaces. 

 

29. What is delegation connector? 

a) A delegation connector ties a component interface to one or more internal classes or 

components 

b) Delegation connectors are solid arrows stereotyped <> 

c) A delegation connector may also extend from an internal class to an external interface 

d) All of the mentioned 
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Answer: d 

Explanation: All of the mentioned options represents delegation connector and are true. 

 

30. Which of these are diagrammatic heuristics? 

a) Use notes, constraints, properties and stereotypes to add information to UML models 

b) Use Stereotypes to name dependencies 

c) Use packages to group elements in static models 

d) All of the mentioned 

Answer: d 

 

Explanation: All of the mentioned are the respective heuristics to be followed for the UML 

models diagram. 

 

31. Which of the following is true ? 

a) A logical architecture is the realization of product as code and data files residing and 

executing on computational resource 

b) A physical architecture is the configuration of product’s major constituents 

c) All of the mentioned 

d) None of the mentioned 

Answer: d 

Explanation: A physical architecture is the realization of product as code and data files residing 

and executing on computational resource whereas, A logical architecture is the configuration of 

product’s major constituents 

 

32. Which among these are the common notations for deployment diagrams? 

a) Artifacts and nodes 

b) Stereotypes 

c) Components 

d) All of the mentioned 

Answer: a 

Explanation: Artifacts and nodes are the common factors used for deployment diagram. 
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33. Which of the following is true? 

a) A UML artifact is any physical representation of data used or produced during software 

development or software product operation 

b) A node is a computational resource 

c) All of the mentioned 

d) None of the mentioned 

Answer: c 

Explanation: All of the mentioned options are true definitions of the notations. 

 

34. Which of these are types of nodes used in deployment diagram? 

a) Device 

b) Execution Environment 

c) Artifact 

d) a,b 

e) a,c 

Answer: d 

Explanation: The two types of nodes are Device and execution environment. 

 

35. Which are the ways to represent nodes in a deployment diagram? 

a) Nodes instances are underlined identifiers of the form name:type 

b) The name may be left off,indicating an unnamed instance of the type 

c) The type may be left off, indicating a named instance with an unspecified type 

d) All of the mentioned 

Answer: d 

Explanation: All of the above are the ways in which a node can be represented in a deployment 

diagram. 

 

36. What does a deployment diagram consists of? 

a) Computational resource 

b) Communication path between resource 
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c) Artifacts that execute resource 

d) All of the mentioned 

Answer: d 

Explanation: A deployment diagram consists of all the mentioned options. 

 

37. Which of the following is incorrect in deployment diagram? 

a) Communication connections between nodes are shown by communication paths 

b) Communication paths are represented by dotted lines 

c) Artifacts are deployed inside nodes where they reside and execute 

d) None of the mentioned 

 

Answer: b 

Explanation: Communication paths are represented by solid lines and not dotted lines. 

 

38. Which of these is correct? 

a) Artifacts instances and types have same names 

b) Artifact names and instances are underlines 

c) All of the mentioned 

d) None of the mentioned 

Answer: a 

Explanation: Artifacts names are underlined but instances are not. 

 

39. What is true about the artifacts? 

a) An Artifact is a physical entity 

b) An artifact has spatio temporal location 

c) All of the mentioned 

d) None of the mentioned 

Answer: c 

Explanation: All of the mentioned options 

 

40. What are the ways in which artifacts can be deployed? 
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a) Artifact symbol can be placed within node symbol 

b) The artifact symbol can appear outside the node but be attached to it by dependency arrow 

from the artifact 

c) Artifact name can be listed inside the node symbol 

d) All of the mentioned 

Answer: d 

Explanation: All of the above are the ways in which an artifact can be deployed. 

 

41. Detailed design is further classified into which of the following? 

a) Mid-Level Design 

b) Low-Level Design 

c) All of the mentioned 

d) none of the mentioned 

Answer: c 

Explanation: Detailed design is further classified as mid level and low level design. 

 

42. Mid-level design is the activity of specifying software at the level of medium-sized 

components such as? 

a) Compilation units or classes 

b) Their Properties, Relationship 

c) Interaction of units 

d) All of the mentioned 

Answer: d 

Explanation: Mid-level design is the activity of specifying software at the level of medium-sized 

components such as Compilation units or classes, their Properties, Relationship and Interaction 

of units. 

 

43. Which of these is correct? 

a) Low-level design is the activity of filling in small details at the lowest levels of abstraction 

b) Low-level design uses DeSCRIPTR specification 

c) Mid-level design uses DeSCRIPTR-PAID specification 
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d) All of the mentioned 

Answer: d 

Explanation: Low level design uses DeSCRIPTR-PAID whereas Mid level design uses 

DeSCRIPTR alone. 

 

44. Which of the following is carried out for the detailed design process? 

a) Both SRS and SAD are taken as input for the detailed design stage 

b) Design is finalized and then Design alternatives are evaluated 

c) Detailed design is the output for the process 

d) a, c 

e) All of the mentioned are correct and in sequence 

Answer: d 

Explanation: Design alternatives are evaluated first and then design is finalized. 

 

 

45. A design document is a complete engineering design specification composed of? 

a) Software Architecture Document(SAD) 

b) Detailed Design Document(DDD) 

c) All of the mentioned 

d) None of the mentioned 

Answer: c 

Explanation: A design document is a complete engineering design specification composed of 

Software Architecture Document(SAD) and Detailed Design Document(DDD). 

 

46. Which of the following statements are true? 

a) The SAD specifies a program’s software architecture 

b) DDD specifies a program’s detailed design 

c) There is a standard template for DDD 

d) a, b 

e) a, c 

Answer: d 
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Explanation: There is no standard template for DDD 

 

47. The DDD template consists of which of the following? 

a) Mid level Design and Low level Design 

b) Mapping between models 

c) Detailed Design Rationale 

d) All of the mentioned 

Answer: d 

Explanation: The DDD template consists of which of the following Mid level Design and Low 

level Design, Mapping between models, Detailed Design Rationale. 

 

48. Which of these statements states Generalization connector? 

a) A generalization connector is more like a link line between objects than an association line 

between classes 

b) The generalization connector always indicates that two particular classes participate in the 

generalization relation, as a link line shows that two objects participate in a particular relation 

c) Never place a name, role names, or multiplicities on a generalization connector 

d) All of the mentioned 

Answer: d 

Explanation: All of the mentioned statements about generation connector are true. 

 

49. Which of the following is correct? 

a) A concrete operation is an operation without a body, which cannot be called 

b) An abstract operation has a body, which can be called 

c) A concrete class is a class that cannot be instantiated 

d) All of the mentioned 

e) None of the mentioned 

Answer: e 

Explanation: All the statements are incorrect, An abstract operation is an operation without a 

body, which cannot be called whereas A concrete operation has a body, which can be called and 

An abstract class is a class that cannot be instantiated. 
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50.Which of these are part of class operation specification format ? 

a) name 

b) parameter list 

c) return-type list 

d) All of the mentioned 

Answer: d 

Explanation: It consists of all these 3 mentioned format. 
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